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E) (m-t)”°
HAEEA n-t, mtt, (m+t)2

i

1
m=-n=
ERE T RA

2| —

(

REMUAEEPHEER 21" HARA —KEE at least 27
1) 15 KBRS
2) Hii 15 RIGE R 15°

i —tEE DL > RIF—E A AT LA T

78

X, vy Ml xt+y &l Positive prime factors,

ﬁ:ﬁ x=?

1) 2<x<y<13
2) xky>12

79

—(E /N E] 524 teams > B &/~ one of these teams, W is two largest of
these teams CREEE » [HETEH two Fl largest :2Mi{Ezd ) H is one of the
two largest teams (FEE)

(i) W is subset of B
(ii) B is subset of H

(iii) W is subset of H(iZ ={&}#&1g

REEE S T SRRy subset

80

—{E={r % - (EArE S AYRIE - FEEEEAE 3 HIEE
(1) TrBEa#
(2) TIBIEMmE

81

x My GhER8 M x (yv+3) B EEE




(1) fF80E x—2 =78 > B x 578
(2) e y-3 78 By 578

FIGHES © B H SR AR B M - GROFEIIRE =T 13

g

y &V y3 BEE > B x (vi3) BUEEE

82 | A certain car averages 25 miles per gallon of gasoline when driven in
the city and 40 miles per gallon when driven on the highway.
According to these rates, which of the folowing is closest to the
number of miles per gallon that the car averages when it is driven 10
miles in the city and then 50 miles on the highway?
A) 28
B) 30
C) 33
D) 36
E) 38
B D
RSN (EEALRE
A certain car averages 15 miles per gallon of gasoline when driven in
the city and 60 miles per gallon when driven on the highway.
According to these rates, which of the folowing is closest to the
number of miles per gallon that the car averages when it is driven
Smiles in the city and then 50 miles on the highway?
BEE A

83

OFMr REEZL > o BT 2 BRIE3WREN  r H T 3BAKRIESE > okl r
ZAE 10. % > HREARIERIES Vi
1) oAt T 18

2)




12 2 {EER AT LA
B0 BT R RERHRORAE - HRENER(H

B0 | fmaxtbxtc (abe MELEBEES) » [ £ (3m-2) =Ax“Bx+C
A+B+C=?
EES
i
BT EL £ (x) =2%x"+3%x+2, f (3m—2) =A%m’=B*m+C
A+B+C=?
7
R SRR m-2 » BT AJRUTAR » sU ] DA ABC HY(H -
R f (x) =x"-x-5, f (3m—2) =Asm’=B%m+C
A+B+C=?
IR ATIAREL 5
" 1 9fHa L{Hb (b controller {{f a B3 T ) THEEMEIU(E A » FITU(E A
A b HIESRE -
Q51 FEEREZ 2/5
86

#R X economics AR 3 group 451K &H#E group %/ > RifE group

%/ =E#E %D




FIURIEE = (ERE & 0 - BZPA?

LRI A CHER VLT RE > EERAx A, MiFEy A SERA 2
ACEFIMA LA, ERISHIA MMISHK A EFIMA S HIEH 4 A - [

WE=ERREEAZ DAY (xy,2,1, §, K B

—{EERTA = {E3T ABC (EEHEAE ABC - {EAZE) &3F 17 A B.CH1Z /D
A > AB.AC.BC Z/D A > ABC Z/D A » BB 45 ABCA N (4 AAE={E# 5 L#D

A) WA 11797 BEMFHIAE 28. 18 /b stie A RERE

M =(EEEARER AR 8 #sa 1 ARARLT

rosters MPF28 A EFF26 AL SHF18 A, MFPFEFFELAT 9 A MBS HIEH
17 AN SHEEPERIYA 6 A =(HEPHEERNA 4 A MEEAT HHE—E

(eE &A%/ VEATAE roster b (BTFAREE )

TGE A2 DAE—(E4H#E » E26 A > M28 A » SI8 A » B&m9 A » e&s 7 A » m&s10
A > ekmbs FE 4 A > H—HREEN Y (BRT eks Al més W EEALAAHERE - HAM
AV EREEY )

HEIEA 34 40.

87

FAEMEEARRAVER - K y=?  ERHEE)
39 315

3’ y
3" k




PS 5 TSt AR (EUIR (E range 2 v WENEAVIEVIRER p o FE
BT r Flp TR ?

FERER  REF LEBEEAVEESE BT —gimEgE 7 p-1/2r

PS : H—7E STOCK i E5—4F (B —4) HY Closing price HY range & P >
ANEZEIATHY closing price /2 R A{EEHARTHY closing price /& X » [H#4l
falF P 1 R Fon—{E 2 HARTHY Closing price (P /IR BEHE b2 iE miE
 XEEARERBMEZEH I T)

A P-2/3R - HAtr BEHRGAEEP A E—HY - AR E

(#e]
PS : BB E—FHAEWHR(E range /& r > IBENFEIVREBHERERZ p > FIBE—
FAEIWHER(E AT Al p 0w ?
st L BREHIQER - HERER G - IRIEREAE Y range IYESHZE - 2
7 p-1/2r iEIH - FEE AN AR range T o HAEA pt3r o prdr FHIEIE 0 42
Z v AREEARR—

(7]
PS : 5 —4F (7 closing price i range /& p > A EHAINY closing price ZR >
i —EHARIHY closing price AJERE 7
BEIEA r+2p 0 v+3/2p Y o RA—EEEAE [rp o rip)] & FEE v IIEL
Hrehk 1/2p

(7] 7 101




PS: 6 {EZIHAIEER P BAEAYER X ffHY range Z R > K—(EZEIFIE
FREERE ?

(#H7E]) Se#EIEnE MEsE D

(el

PS t stock REHHRZE r - FIAEFEAYE p > ERERVEZ D ?

FEEREE  BORNME THERE HA p2r FE (p BEEMERVEEME/ N

r) o BEIFEAEEER pt2/1r > pt3r ZHEAY

89

WAfir#g 20-80inclusive funit digit @ F&27
Bef—&E digit Fh2EE
i/ digit MHIIZEE -

#EE

fff— > ATLUE 23 5032 A7y

90

B S EOEIN - JOEIH E A8 R 1F > [ 10-100 #7528 (E&mEE s 2
HeBEy 10 (]

91

HAZ=AF & T #ER 0 NNA  KEREE
(10)

PS & -

5 BAC90 [ - AD F= 52 BC » £5 C30 [& » A3 BAD30 » 241 BC & 40 » K BD >




92

(HE5 86 REAN[E] ) 4R3L 300 A - 4G BRI (Y > Ak ~ THIA =

o /3 NEEk » 2/3 NEERT > 8y 2 S NBEA > AR/ A=THHEE T (4F

B EHEE )
(1) BERIHERIZ /DA

(2) BT

T
HSMBENEZ DA (B T8
2. ShEAR T (SOERRETR(E) #F%b A

2 A = EERIBER A AE

i
A E AN 2 VB T —IH

93

423 * 25% 13 (HBFER—EEHEEHEERS)

EERE T EAYECL > RAEERIE IRV ? B o d AHEE

a)
b)
c)
d)
e)

N O O1 DN~




HMEZBERTE 2 > Wi 433%25%13 Hgfnfe b -

/AR 7 B—(r+] U 100%25%13 > Fir+1 2] 10%25%13 - 55 5 fir+1 %
th 423113 > {REJEER IEHIAI— & B BEORHY 423 FH3fke - SEREEGE R > AL
HEEEATE AL -

iEEEMAE digit TREIGHEET

4 N . . TR
M| S EEAECE I T 2 4 8 /N > BI=(H sinultancously  HLHS
FE B R E B PEIE T 26/ ? (with the highest speed )
SRR 1/7
95 e
ds @ RTEAERER 27" +y 4% 5 TEFRAVERELE 4 2
1) y=1
2) T xE > IS TEBEZ/D -
KzEHE A1) sufficient
96 . . .
k 2 1F#$) positive integer » Ck is odd
(citeot. .. +c,)" is even?
1)m is even
2) n is even
97 |PS: A sequence nl, n2, n3, n4, ... The standard deviation is X. Which

of the following would change the SD?
(1) nl1+2, n2+2, n3+2, n4+2,
(2) 2%nl, 2+%n2, 2%n3, 2%n4,
(3) n1'2, n2°2, n3°2, nd 2,

I only
IT only
I and II only
I, II and III

oo w=




R R

288
P BSEAHER 5 B RS AR

KZEZonly 1

98

range X y
0-3 3 2
4-6 4 4
7-9 3 f

x, y FIVEFREE x>y o pIHERAVIRR (SEEBE - FEERELAEE )
EE4n 0-3 BYEh x A 3 - v 7 2 (|

[ x SPHEE>Y “FE ?

1) f=4

2) e/ N E B 0

e R
Dx3+4d*%x4+T=*3
10

il

b

W EFRPFEREAR x P ESy HIE




AR

99

Ds f=—16%x"+b%x+c
f(r)=48 f(r, =48

1<y, BEA K 1)

1)f(4)=0
2)f(3)=48

100

VO{EA[FIBE R IR - AL ERAHIE - FIEDUERR il (E - H P AildsE s
& (EASZWR(EER A BCRs 1) HYA 2% FE AT AE

VUREBH (UK (4L&kEET) #E 2 JH & either &LFK or WBK 2875

s
(2 15

101

x oy RylE8E > wlz o [ x Y w K5 <y 1Y z K5
1. x<1

2. xy /NP—{E# (HEBEUESEE )

102

digit S and R » T=S*R » 3 0. 0T/0. 00R
digit giiEZEA —(EHEM =1 & positive /& nonzero MY

#EIFA S00, S0, 0, 0. S, 0. 00S

{Ef5 TO/R > S*¥R0O/R=S0

103

(155 98 FHAE] ) DS ¢ iE R IEISmART— - &5 7 —(EfFEA > SE 2k
T REWEREEUES T XY EAEBY FREEMRSE - B X £
EREEN MREER 2 0 BSEE 3. A X /) sum HE 0%2+242+3%3=13 »
K sum S 0%3+2%4+3%56=23 > Ll X HYHEEHLE 13-23. [ Y ££ 3 EfEEN

NEYE v £ NHIRERRF T > X #Y largest sum A DUREELE Y 2K ?
X Y




0 2 and 3 1 and 3
2 2 and 4 2 and 4
3 3 and 5 y

(D y&m/MER - ° °

(1) y \REZ - ° °

104

DS B & —EEER Y 1900 FEAE R E]—(EEZE 1970 it
et Y- -

L. s —FERAAYER A 350 5 O R DU B Y SRl P T
2. f+RRATRERAY

FEERTEL 43%43 F1 44%44

A—{EALE 1900 FE R EFH 1970 FERIHEMIER BB BMAVFE - HEHE
LU #84)5E » Mae R i —E A

1}

1 fifE 1900 588 REIFEIRHVE —FBA T - 31 “ SETBER-FITHE
tr”

2 BESEHECARE T

FEERIBE T A 44 (U7 H=1936 1936 £E38 44 pRAEH 3RE] 1936-44=1892 £EHI4E

45 ¥ J7=2025 AFEEH

105

f(x)>0 f(xt+y)=f(x)f(y), kK £(0)?

BIRHEA-1 1> 22> 0385 &

EIeEER-1 -
f&xty) =f () £(y) > FREIFETREEIIEE - B EEHIZ R ITEER 1

106

X, yiEpositive integer s [if x (y+3) B& HiE# (MUEF =T )




1) x=3 Z&#

2) y-3 EHE

fifE— - vy (EAHEE - S BEANHEE > A7
fiRfFE— >y —EREE > yt3 —EREE > T

107

—{#l/AFA programmer » AMER AL E TAREA BT @ G sErp R bfd
S - AMEAEEBEAEE - FEREIRAZ programmer HZZEHHIA
B

1) 70% are programmer or tBEF

2) 90% are programmer or not tiF

75 C
PRSI

HEege © \T#HAE — 08 Engineer, —¥93 A& color-blind, [ Engineer HY
bk ?

1)E or C HyKEEEA 70% —) E+C-ExC=0.7

2)E or ?aqgtt%go% -y E+C—-E+xC =09
1)+2) :

2+ +(C+ (O —Ex(C+CY)=FE+1=16

E=0. 6

108

HoETZBRES  HREEVSET—E S EWERAPO—E M2 WiE
R o SRABEIEHE nust be true »
FRHEry None H 2 S HGTHE » S B MAGTHE » S 2 MAGT4E

R Em A




109

—EPLEA S (EE2E AR 8 (A —4H F 5 A EHHeEEEN S IR 5 @
N IESFATLLPRE 7 {8 A —4H DA T UME i v DU 2R AR A 82

HedEry 37

110

AFIB fy range /& 30 —3LF 45 {EE > (K A f range
1) AF 15 {E%
2) BHy#EIEZ 20

BT E

111

KRESTHRENREEZEE?
1) RIFHVE AR RPRIEN 2 & - (E/NRREHY 3 &
2) RENHEZILZEEE

g C

112

nEEE Mo BAR VTR
1) 4n V58
2) n'3 W PITH

HEED

113

11

A T 120 {EPRE - > 40 {EAH 520 A B9 - 56 (E 520 B Y - A B &R FIHY

NJE AB HHIHYAHY 4 £ - [ AB #RFHHYZ /DA 2

A Al

G

X

=]
ZEZ 2 8

1
_f

114

= | —REEh - (ARG RE r, tou (FRFAREAAERE) Rt 26
positive ?
1) two

2) rt<0




HEB

115

eSS 2 {E 35% - IR R ER TR - M —EAWER T =5 HEZ
R 12000

1 BFE 1WEEX) > B=FE 120EEZ)

2 PIEHEERL 17000 B

W EEERENH 2%/

fERAF—FERE - Aoy

Bt — > 17000%0. 65=11050 » ELHHER 12000 » %43

116

DS & -

RMEE ABC —FERPY > ERAIE - AJE BHYHIAE > CEBAVEIE - 7B LA
5y Z— > BC & HIEOKE = (SR PgHY-PHIER -

(1) FoEHE A — A {ER

(2) HIEE=FREE

ST EERS B -

117

px& m n AYER/ VAR a2 m n BYRARAREL
p+q=91, p/q=12
R9[ (m+n) *~ (m*+n*) ] /p

WEIEA 6> 14> 260 o o

W51 FERELCE 2 (H2BE T 14 J51Y

118

X-6.5[=3.5 LU NIERF&

XKIY 3.5




X KiY 16.5

HAGBEIHEC A T

119

THEE R FR 4R perpendicular HY

120

KEHERS - —(EER 0.95 > —(# 0.9 > F/b—(EHEH MR

#E 0. 995

121

B AL braking #Y ds @ Al HEREANT THREERE R ELS]
[ 2s RIEEEREZ % /)

e A

45T s HRERE

122

/D tool BEE JFEEAS 120 FIEER 20% Jek/ D1z 30%

[EERAERICA?

105

123

Ry T EiRE hall 2T (EEREE A HEA AB [MFTHEETEA 5%

dl

AN SEfRF— B A B HERAY

FEEEI5ENY Aand B #3552 {H/ZAI neither a norB # A SEHYEEIH

124

ZRERAVSCRE(E S oI y AL 123 A AR B BAFERC

i 123 #HI A RE

125

60 X EHpEFERT 12 N HHE 20 ) FHY 50

[P R

126

Ds BHEE s 1F tk TR

R s &k 1tk3.63miles 2t %] s #I k AYREEE> Lk




5 ¢

127

ds 3K x(y+1)

75E e

128

ds [ n BE# <11
1. 4 —n<2 -6

2. 2°-n<2°-6

129

130




